
Answers

1)	 ..

2)	 Estimate these angles and then order from smallest to largest.

obtuse
170°

obtuse
95°

acute
85°

reflex
270°

acute
10°

1)	 Use the correct symbol ( <  >  = ) to complete these statements.

135°  ½ turn	             

¾ turn   270°

⅜ turn 270°

2)	 Sam says, "My turn will be a reflex angle if I turn from north-east to west clockwise." Is he correct? 

Circle:    Yes  /  No

Explain your answer. Sam is correct because this turn has a value of 225°.

<

=

> <

1)	 True. A 3 
4 turn has a value of 270° whereas a 5 

8 turn is 225°.

2)	

Multiple instructions possible

2 5 3 0

visit twinkl.com


